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public interface MyInterface {
public abstract int fool(int i);
int foo2(int 1i);

The modifiers of fool and foo2 are the same.
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public interface

Foo {

public void bar() throws Exception;

}

public class FooImpl implements Foo {
public void bar() {
System.out.println("No exception is thrown");

¥

public static void main(String args[]) {

Foo foo =
foo.bar();

new FooImpl();

?0n7 ,X7 DX ?79npnn TN DRN
?70n% ,w' DX 70X NNAY W' ORD LD DX
?079n0 Nn ,NNKX

NY7'9NIP NNAY
"Unhandled exception type Exception”
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public interface Foo {
public void bar() throws Exception;

}

public class FooImpl implements Foo {
public void bar() {
System.out.println("No exception is thrown");

¥

public static void main(String args[]) {
FooImpl foo = new FooImpl();

foo.bar();
} ?0n7 ,X7 DX ?79npnn TN DRN

?70n% ;' DX 70X NNAY W' ORD LD DX
?079n0 Nn ,NNKX

079
"No exception is thrown"
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Consider the following class hierarchy:

Interface Animal {..}

class Dog implements Animal{..}
class Poodle extends Dog {..}
class Labrador extends Dog {..}

Dog

Poodle

Labrador

Which of the following lines (if any) will not compile?

Poodle poodle = new Poodle();
Animal animal = (Animal) poodle;
Dog dog = new Labrador();

poodle = (Poodle) dog;
-No compilation error
-Runtime Exception

animal = dog; - Compilation Error
Type mismatch: cannot convert

poodle = dog;

Labrador labrador = (Labrador) dog;
-No compilation error
-No Runtime Exception
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class A {

public void print() {
System.out.println("A");

}
¥

PANAY W OXND

class B extends A implements C {

¥

interface C {
void print();

AN

N'Y7'9N17 NIRAY |'X

77NN N2 public
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class A {
void print() {

System.out.println("A");

}
¥

PANAY W OXND

class B extends A implements C {

¥

interface C {
void print();

}

:N'N7'9NI17 NNAY
The inherited package
method A.print()
cannot hide the public
abstract method in C

7
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public class A {
public float foo(float a, float b) throws IOException {

¥
}

public class B extends A {

}

?B -2 'T1an% [N o'kan o'nn'wnn 17N

. float foo(float a, float b){..}

. public int foo(int a, int b) throws Exception{..}

. public float foo(float a, float b) throws Exception{..}
. public float foo(float p, float q) {..}

N wWwN R

8
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public class A {
public void print() {

}

}

System.out.println("A");

public class B extends A {
public void print() {

}

}

System.out.println("B");

‘0790

public class C {
public static void main(String[]

args){
B b= new B();
A a = b;
o.print () 2
a.print();
}
}

?0n7 ,X7 DX ?79npnn TIpn DRN
?70n7 ,u' DX 70X NXR'AY W' OXD LD DX
?079n Nn ,MNKX
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public class A { public class C {
public void print() { public static void main(String] ]
System.out.println("A"); args) {
} B b= new B();
} b.print();

public class B extends A { }

protected void print() { }
System.out.println("B");

}

et

NNX7'9NIP NNAY
"Cannot reduce the
visibility of the
inherited method from A"

?70n7 ,X7 0K ?79npnn TIpn DRN
?0n% ' DX 70X NNAY W' OXRD LD DX
?0%79n0 Nn ,NNNX
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public class A {
protected void print() {

}

}

System.out.println("A");

public class B extends A {
public void print() {

}

}

System.out.println("B");

public class C {

}

public static void main(String[]
args) {
B b= new B();
b.print();
}

‘0790

?0n7 X7 DX ?779npNn TIipn ORN
?0n7 ,¢' DX 70X NX'AY W' OXD LD DX
?0%90 Nn ,NNNX

1
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public class A { public class B extends A {
public void foo() { public void foo() {
System.out.println("A.foo()");

} System.out.println("B.foo()");
}

public void bar() { . . . . .
System.out.println("A.bar()");| Public static void main(String[]

foo(); args) {
) A a = new B();
} a.bar();
}
}

10790 ?nnY ,X7 DX 7790700 TIPN DXN
A.bar() ?nnY ,w' DX ?2N¥N NXAY W' DRD D DX
B.foo() 20990 NN NN | 12
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public class A { public class B extends A {
private void foo() { public void foo() {
System.out.println("A.foo()");

) System.out.println("B.foo()");
}

public void bar() { . . . . .
System.out.println("A.bar()");| Public static void main(String[]

foo(); args) {
} A a = new B();
} a.bar();
}
}

10790 ?0n7 ,X7 DX ?779npNn TIipn DRN
A.bar() 7007 ,w' DX 70X NR'AY W' OXD LD DX
A.foo() 20790 NN ,DINKR | 3
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public class A {

public void foo() {..}

7w f00-7 XNP7 "WON DXN
?Bymnn A

public class B extends A {
public void foo() {..}

INIYN
super.foo() T

14
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public class A {

public void foo() {..} 9w foo-7 NP7 "WOX DXRN

} ?Cynn A
public class B extends A { R
WO 'N

public void foo() {..} super.super.foo()
} '?IN X7 -

public class C extends B {
public void foo() {..}

¥
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Pug%if ClgSS A EA s public class C {
ring bar = “A.bars; public static void main(String[]
A() { foo(); } args) {

A a = new B();

public void foo() { .
System.out.println("a.bar =

System.out.println("A.foo(): bar = " +
bar) ; + a.bar);
} } a.foo();
}
public class B extends A { }
String bar = "B.bar";
B() { foo(); } 079
. 1
public void foo() { B.foo(): bar = null
System.out.println("B.foo(): bar = " + B 'FOO()' bar = B.bar

bar);
a.bar = A.bar

} B.foo(): bar = B.bar

16
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public class A {

protected B b = new B(); .
public A() { System.out.println("in A: no args."); } ‘ . 'UI?Dn
public A(String s) { System.out.println("in A: s = " + s); } in B: no args.
} in A: no args.
public class B { in C: no args.
public B() { System.out.println("in B: no args."); } in B: no args.
) in A: no args.
public class C extends A { in C: no args.
protected B b;

public C() { System.out.println("in C: no args."); }
public C(String s) { System.out.println("in C: s =" + s); }
}

public class D {
public static void main(String args[]) {
C c = new C();
A a = new C();
}
}

17
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public class A {

protected B b = new B();

public A() { System.out.println("in A: no args."); }

public A(String s) { System.out.println("in A: s = " + s); }
}

public class B {
public B() { System.out.println("in B: no args."); }

}

public class C extends A {

protected B b;

public C() { System.out.println("in C: no args."); }

public C(String s) { System.out.println("in C: s =" + s); }
}

public class D {
public static void main(String args[]) {
Cc=new C("c");
A a = new C(“a");
}
}

in
in
in
in
in

079N
no args.
no args.
S = C
no args.
no args.

18
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public class Test {
public int a = 0;
private int b = 1;

NMIYNN 0'Y1 a-e -n DNWN 1'7'X
?Ninionn

public void foo(final int c) {

int d = 2;

class InnerTest {

d-n yin 0713 :naIwn

private void bar(int e) {

19
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10 .iterator ,omom'7101 nwin' ,DBC ,Java
.. ,Collection Framework ,ni'm+o nip7nn ,Generics
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